reversible motor - series XV

STANDARD EUROPEAN MOTOR
250.8 FLANGE - TAPER SHAFT -

|X|/3|M|78/01|A|B|B|E|
Series X series XV
Group 3  group3
Category M reversible motor
Displacement 78 38
Flange 01  @50.8 reversible rotation
Shaft A CO001 - Tapered 1:8 - 822 - key thk.4
IN B inlet- @51 @27 M10
Body
OUT| B  outlet- @51 @27 M10
Cover E  with external drainage
Technical data table
TYPE Displacement Max. Pressure CODE e NI %
e gﬁ ® <) B
O O ©
cm3/rev P1bar | P3bar External drainage Internal drainage ® @ “
XV-3M/15 14,89 250 270 |[X 3M6601AAAE|X 3M660LAAAF = EE bl [
XV-3M/18 17,37 250 270 X 3M6801AAAEJX 3M6B801AAA F O 9
XV-3M/21 21,10 250 270 X 3M7001AAAEJX 3M7000AAAF O < @)
XV-3M/27 26,97 250 270 X 3M72001AAAEfX 3M7200AAA F
XV-3M/32 32,27 250 270 |X 3M7401ABB E|X 3M7401ABB F 1,5 T
XV-3M/38 38,47 250 270 X 3M7801ABBEJX 3M7801ABB F E. T4
XV-3M/43 43,44 250 270 X 3M7901ABBEJX 3M7901ABB F 2 @ 22
XV-3M/47 47,16 230 250 (X 3M8001ABB E|X 3M8001ABB F ST mtaxas
XV-3M/51 50,88 230 250 X 3M8101ABBEJX 3M801ABB F
XV-3M/54 54,60 230 250 X 3M8201ABBEJX 3M8201ABB F FH
XV-3M/61 60,81 230 250 X 3M8301ACCEJX 3M801ACCF S—
XV-3M/64 64,53 210 230 |X 3M8501ACC EJX 3M8501ACC F M
XV-3M/70 70,74 200 220 (X 3M8601LACC E[X 3M801ACC F T3 @ 50,8 18 (07)
XV-3M/74 74,46 180 200 X 3M8701ACCEJX 3M8701ACC F < 1/84\ <
XV-3M/90 86,87 150 170 X 3M8901ACC EJX 3M801ACC F T.2 4\\ i
P1) Max. working pressure - P3) Max. peak pressure 4\&%9 <@
For heavy-duty applications, it is recommended to check the admissible torque of the shaft =
[ee)
Dimensions table o | et
TYPE Weight A B D E F D E F @ N e
kg mm | mm IN ouT < {@ 3 of
XV-3M/15 7,010 122,0 | 61,0 | 220 40 M8 220 40 M8
XV-3M/18 7,070 124,0 | 62,0 | 220 40 M8 220 40 M8 - . w
XV-3M/21 7,150 127,0 | 63,5 | 920 40 M8 220 40 M8
XV-3M/27 7,250 131,0 | 65,5 | 220 40 M8 220 40 M8
XV-3M/32 7,390 136,0 | 68,0 | @27 51 M10 227 51 M10
XV-3M/38 7,520 141,0 | 70,5 | @27 51 M10 227 51 M10 -
XV-3M/43 7,630 1450 | 72,5 | @27 51 M10 227 51 M10
XV-3M/47 7,710 148,0 | 74,0 | @27 51 M10 227 51 M10
XV-3M/51 7,790 151,0 | 75,5 | @27 51 M10 227 51 M10 ;_
XV-3M/54 7,870 154,0 | 77,0 | @27 51 M10 227 51 M10 ©
XV-3M/61 8,010 159,0 | 79,5 | @36 62 M10 236 62 M10
XV-3M/64 8,090 162,0 | 81,0 | @36 62 M10 236 62 M10
XV-3M/70 8,220 167,0 | 83,5 | 236 62 M10 236 62 M10
XV-3M/74 8,300 170,0 | 85,0 | @36 62 M10 236 62 M10
XV-3M/90 8,570 180,0 | 90,0 236 62 M10 236 62 M10 200810 YARTBOUBBEGFH
T.1 = 60+65 [Nm] - screw tightening torque M10 T.3 =75 [Nm] - torque wrench setting 22

T.2 = 482 [Nm] - admissible shaft torque (N.B. When choosing a shaft, always check the admissible torque).
T.4 = 0.3+0,5 bar - max. drainage pressure

Vivoil Oleodinamica Vivolo s.r.l. - Sole Shareholder Company - via Leone Ginzburg 2-4 40054 Budrio (BO) Italy tel: +39 051 803689 fax: +39 051 800061
XM301 www.vivoil.com - english 02/07/2009

1



Table of variations

250.8 FLANGE Shaft Cover
COO001 - Tapered CI001 - Parallel
01 <'I]'.38: 4:%2 [Nm] A T.2 =181 [Nm] B ; % E
J % g 4h8 % § 5h8 9 \’7
‘ — o) 7\ @:i:S ’ ' I—,
B : & il - drainage
SCFO03 - Splined Cl004 - Parallel ’
T.2=223[Nm] c T2= 188 [Nm] H F
m=1,6 Z=13 Yl =
DIN 5482 - 22x19 5 Y
jﬁ% § § 6.35h9 >
==: @
25 He 8 nternal drainage
5 H Internal drai
SCFO04 - Splined ol 265 %5 o
T.2 =264 [Nm] | 2 6 Q A
SAE J498 Ny g K
41.2 13T 16/32 DP )
3355 21,81 5 + — |£,
out NN
2994 D
IN + OUT + external
ol 265 265 o ' -
2 ege 9 - 1
B! 3 v
"a & |
L~
ouT 0 :
IN + OUT + internal
Displacement Standard bodies
TYPE CODE Displacement cm3/rev| Standard threads
XV-3M/15 66 15 A-A D-D H-H
XV-3M/18 68 18 A-A D-D H-H
XV-3M/21 70 21 A-A D-D H-H
XV-3M/27 72 27 A-A E-E H-H
XV-3M/32 74 32 B-B E-E H-H
XV-3M/38 78 38 B-B E-E H-H
XV-3M/43 79 43 B-B E-E H-H
XV-3M/47 80 47 B-B E-E H-H
XV-3M/51 81 51 B-B E-E H-H
XV-3M/54 82 54 B-B E-E H-H
XV-3M/61 83 61 c-C F-F
XV-3M/64 85 64 c-C F-F
XV-3M/70 86 70 c-C F-F
XV-3M/74 87 74 c-C F-F
XV-3M/90 89 90 c-C F-F
Table showing standard flange and thread
combinations available in stock
Body (threads/flanges)
M8x1.25 10x1.5 . A_E M10x1.5 2/4BSP 1"BSP 1" 1/4 BSP g M8><1,25P
=) I~ D (&
§ A g B B c D E F © e
P40 @51 f @62
M8x1,25 *@_M 38 BSP 3018
» v | H (S 4D | T L M N o P
F o
b @55 262 7/16-14UNC-2B
Closed
Body Z
Vivoil Oleodinamica Vivolo s.r.l. - Sole Shareholder Company - via Leone Ginzburg 2-4 40054 Budrio (BO) Italy tel: +39 051 803689 fax: +39 051 800061
XM301 www.vivoil.com - english 02/07/2009

2



reversible motor - series XV

STANDARD EUROPEAN MOTOR
850.8 FLANGE - TAPER SHAFT

|X|3|M|78|01|A|E|E|E|

Series X series XV
Group 3  group3
Category M reversible motor
Displacement 78 38
Flange 01  @50.8 reversible rotation
Shaft A CO001 - Tapered 1:8 - 822 - key thk.4
Body IN E  inlet-1"BSP
OUT| E  outlet-1"BSP
Cover E  with external drainage
Technical data table
TYPE Displacement |  Max. Pressure {:} CODE @Q L %
¥ o
- (E47] Llor NN %
cm3/rev P1bar | P3bar External drainage Internal drainage O O “
XV-3W15 | 14,89 | 250 | 270 |X 3 P660LIADD E[X 3 P6602ADD F 22 T
XV-3M/18 17,37 250 270 | X 3P6B80LADD EJX 3P6802ADD F 9 9
XV-3M/21 21,10 250 270 | X 3P7001ADD EJX 3P7002ADD F O & @)
XV-3M/27 26,97 250 270 |[X 3P7201AEE E|X 3P7202AEE F
XV-3M/32 32,27 250 270 |[X 3P7401AEE E|X 3P7402AEE F 11,5 T
XV-3M/38 38,47 250 270 |X 3P7801AEE E|X 3P7802AEE F :;@ T4
XV-3M/43 43,44 250 270 |[X 3P7901AEE E|X 3P7902AEE F 2 @ 22
XV-3M/47 47,16 230 | 250 (X 3P800LAEE E|X 3P8002AEE F ST Miaxts
XV-3M/51 50,88 230 250 |[X 3P8101AEEEJX 3P8102AEE F
XV-3M/54 54,60 230 250 | X 3P8201AEEE]JX 3P8202AEE F fﬁ\
XV-3M/61 60,81 230 250 | X 3P8301AFF EJX 3P8302AFF F —
XV-3M/64 64,53 210 230 X 3P8501AFF E|X 3P802AFF F 24,93
XV-3M/70 70,74 200 220 (X 3P8601AFF E|X 3P8602AFF F T3 @ 50,8 8 (6%)
XV-3M/74 74,46 180 200 [X 3P8701AFF E|X 3P8702AFF F < 1/84\ <«
XV-3M/90 86,87 150 170 (X 3P8901AFF E|X 3P802AFFF T2 x\ A
P1) Max. working pressure - P3) Max. peak pressure 4\3% 5 ©
For heavy-duty applications, it is recommended to check the admissible torque of the shaft & Y
N
Dimensions table 8 L K
TYPE Weight A B D D @ p
kg mm mm IN ouT < \@ DI
XV-3M/15 7,010 122,0 61,0 3/4" BSPP 3/4" BSPP
XV-3M/18 7,070 124,0 62,0 3/4" BSPP 3/4" BSPP ' !
XV-3M/21 7,150 127,0 63,5 3/4" BSPP 3/4" BSPP
XV-3M/27 7,250 131,0 65,5 1" BSPP 1" BSPP
XV-3M/32 7,390 136,0 68,0 1" BSPP 1" BSPP
XV-3M/38 7,520 141,0 70,5 1" BSPP 1" BSPP -
XV-3M/43 7,630 145,0 72,5 1" BSPP 1" BSPP
XV-3M/47 7,710 148,0 74,0 1" BSPP 1" BSPP
XV-3M/51 7,790 151,0 75,5 1" BSPP 1" BSPP <
XV-3M/54 7,870 154,0 77,0 1" BSPP 1" BSPP &
XV-3M/61 8,010 159,0 79,5 1" 1/4 BSPP 1" 1/4 BSPP
XV-3M/64 8,090 162,0 81,0 1" 1/4 BSPP 1" 1/4 BSPP
XV-3M/70 8,220 167,0 83,5 1" 1/4 BSPP 1" 1/4 BSPP
XV-3M/74 8,300 170,0 85,0 1" 1/4 BSPP 1" 1/4 BSPP
XV-3M/90 8,570 180,0 90,0 1" 1/4 BSPP 1" 1/4 BSPP 20810k YORTBOWEEEdfH

T.1 = 60+65 [Nm] - screw tightening torque M10
T.2 = 482 [Nm] - admissible shaft torque (N.B. When choosing a shaft, always check the admissible torque).
T.4 = 0.3+0,5 bar - max. drainage pressure

T.3 =75 [Nm] - torque wrench setting 22

Vivoil Oleodinamica Vivolo s.r.l. - Sole Shareholder Company - via Leone Ginzburg 2-4 40054 Budrio (BO) Italy tel: +39 051 803689 fax: +39 051 800061

XM302

www.vivoil.com - english

02/07/2009



Table of variations

250.8 FLANGE Shaft Cover
COO001 - Tapered CI001 - Parallel
01 <'I]'.38: 4:%2 [Nm] A T.2 =181 [Nm] B ; % E
J % g 4h8 % § 5h8 9 \’7
‘ — o) 7\ @:i:S ’ ' I—,
B : & il - drainage
SCFO03 - Splined Cl004 - Parallel ’
T.2=223[Nm] c T2= 188 [Nm] H F
m=1,6 Z=13 Yl =
DIN 5482 - 22x19 5 Y
jﬁ% § § 6.35h9 >
==: @
25 He 8 nternal drainage
5 H Internal drai
SCFO04 - Splined ol 265 %5 o
T.2 =264 [Nm] | 2 6 Q A
SAE J498 Ny g K
41.2 13T 16/32 DP )
3355 21,81 5 + — |£,
out NN
2994 D
IN + OUT + external
ol 265 265 o ' -
2 ege 9 - 1
B! 3 v
"a & |
L~
ouT 0 :
IN + OUT + internal
Displacement Standard bodies
TYPE CODE Displacement cm3/rev| Standard threads
XV-3M/15 66 15 A-A D-D H-H
XV-3M/18 68 18 A-A D-D H-H
XV-3M/21 70 21 A-A D-D H-H
XV-3M/27 72 27 A-A E-E H-H
XV-3M/32 74 32 B-B E-E H-H
XV-3M/38 78 38 B-B E-E H-H
XV-3M/43 79 43 B-B E-E H-H
XV-3M/47 80 47 B-B E-E H-H
XV-3M/51 81 51 B-B E-E H-H
XV-3M/54 82 54 B-B E-E H-H
XV-3M/61 83 61 c-C F-F
XV-3M/64 85 64 c-C F-F
XV-3M/70 86 70 c-C F-F
XV-3M/74 87 74 c-C F-F
XV-3M/90 89 90 c-C F-F
Table showing standard flange and thread
combinations available in stock
Body (threads/flanges)
M8x1.25 10x1.5 . A_E M10x1.5 2/4BSP 1"BSP 1" 1/4 BSP g M8><1,25P
=) I~ D (&
§ A g B B c D E F © e
P40 @51 f @62
M8x1,25 *@_M 38 BSP 3018
» v | H (S 4D | T L M N o P
F o
b @55 262 7/16-14UNC-2B
Closed
Body Z
Vivoil Oleodinamica Vivolo s.r.l. - Sole Shareholder Company - via Leone Ginzburg 2-4 40054 Budrio (BO) Italy tel: +39 051 803689 fax: +39 051 800061
XM301 www.vivoil.com - english 02/07/2009

4



reversible motor - series XV

SAE B TYPE MOTOR
2101.6 FLANGE - SPLINED SHAFT

|X|/3|M|78/31|1|E|E|E|

Series X series XV
Group 3  group3
Category M reversible motor
Displacement 78 38
Flange 31 | @101.6 SAE B reversible rotation
Shaft I SCF04 - Splined @21.81 z=13, H=33.55 SAE J498-13T -16/32DP (SAE B)
Body IN E  inlet-1"BSP
OUT| E outlet-1"BSP
Cover E  with external drainage
XM331
Technical data table 142 a
TYPE | Displacement| Max. Pressure | {D’% CODE @ O a
u =] 5 2
cm3/rev P1bar | P3bar External drainage Internal drainage
XV-3M/15 14,89 250 270 |X 3M6631 1 DD E|X 3M66311 DD F “;:’ E
XV-3M/18 17,37 250 270 |X 3M6831 1 DD E|X 3M6831 1 DD F o)
XV-3M/21 21,10 250 270 |[X 3M7031 1 DD E|X 3M70311 DD F E
XV-3M/27 26,97 250 270 X 3M7231 1 EE EfJX 3M7231 1| EE F O
XV-3M/32 32,27 250 270 X 3M7431 | EE EfJX 3M7431 | EE F SAE J498 T1
XV-3M/38 38,47 250 270 X 3M7831 1 EE EfJX 3M7831 1| EE F 13T 16/32 DP T4
XV-3M/43 43,44 250 270 X 3M7931 1 EE EfJX 3M7931 | EE F
XV-3M/47 47,16 230 250 |X 3M8031| EE E|X 3M8031 1| EE F @ 21,806 Sz 9
XV-3M/51 50,88 230 250 |X 3M8131| EE E|X 3M8131 1| EE F b I
XV-3M/54 54,60 230 250 |X 3M8231| EE E|X 3M8231 1| EE F
XV-3M/61 60,81 230 250 |[X 3M8331| FF E|X 3M8331L1| FF F |
XV-3M/64 64,53 210 230 X 3M8531 1 FF EfJX 3M831 1 FF F ﬁ\ L
XV-3M/70 70,74 200 220 |[X 3M8631 1 FF E|X 3M831L 1| FF F @ 24,98
XV-3M/74 74,46 180 200 X 3M8731 1 FF EfJX 3M8731 1 FF F T2 @ 101,6 S0
XV-3M/90 86,87 150 170 X 3M8931 1 FF EJX 3M8931 1 FF F
P1) Max. working pressure - P3) Max. peak pressure oo M
For heavy-duty applications, it is recommended to check the admissible torque of the shaft <
Dimensions table © : I'\ 1 \aj— Il
TYPE Weight A B D D @~
kg mm mm IN ouT < e @ Dl
XV-3M/15 7,010 124,0 61,0 3/4™ BSPP 3/4" BSPP
XV-3M/18 7,070 126,0 62,0 3/4™ BSPP 3/4™ BSPP N S —
XV-3M/21 7,150 129,0 63,5 3/4"™ BSPP 3/4"™ BSPP
XV-3M/27 7,250 133,0 65,5 1" BSPP 1" BSPP 22
XV-3M/32 7,390 138,0 68,0 1" BSPP 1" BSPP ~
XV-3M/38 7,520 143,0 70,5 1" BSPP 1" BSPP o\
XV-3M/43 7,630 147,0 72,5 1" BSPP 1" BSPP -
XV-3M/47 7,710 150,0 74,0 1" BSPP 1" BSPP A
XV-3M/51 7,790 153,0 75,5 1™ BSPP 1™ BSPP N IS
XV-3M/54 7,870 156,0 77,0 1" BSPP 1" BSPP A
XV-3M/61 8,010 161,0 79,5 1" 1/4 BSPP 1" 1/4 BSPP
XV-3M/64 8,090 164,0 81,0 1" 1/4 BSPP 1" 1/4 BSPP
XV-3M/70 8,220 169,0 83,5 1" 1/4 BSPP 1" 1/4 BSPP
XV-3M/74 8,300 172,0 85,0 1™ 1/4 BSPP 1™ 1/4 BSPP
XV-3M/90 8,570 182,0 90,0 1™ 1/4 BSPP 1™ 1/4 BSPP WOW0s  YRISIEEEH
T.1 = 60+65 [Nm] - screw tightening torque M10
T.2 = 264 [Nm] - admissible shaft torque (N.B. When choosing a shaft, always check the admissible torque).
T.4 = 0.3+0,5 bar - max. drainage pressure
Vivoil Oleodinamica Vivolo s.r.l. - Sole Shareholder Company - via Leone Ginzburg 2-4 40054 Budrio (BO) Italy tel: +39 051 803689 fax: +39 051 800061
XM331 www.vivoil.com - english 02/07/2009

5



Table of variations

2101.6 FLANGE ""SAE B"" -

2101.6 FLANGE "'SAE B"" Shaft Cover
COO001 - Tapered CI001 - Parallel
31 ,T2= 4@42& m] A T.2=181 [Nm] B £
2 4h8 é 5h8 o o -
‘ ! L
o 2 I
2 s el w | o drainage
SCFO03 - Splined Cl004 - Parallel ’
T.2=223[Nm] 4 Ic T.2 :%1280 [Nm] H F
ngu‘ss4a§=-1232x19 2 M; 8
© 3 ﬁ 6,35 h
q;‘::
[
Internal drainage
SCFO04 - Splined
ol 265 265 o
T.2=264 [Nm] | @ 2
412 | s385 =$ :3 K
o o
st Ho-ap U
SAE J498 ouT S llN
1311600208 D IN + OUT + external
ol 265 265 o '
1] 2]
o o L
i Ny
&t (o ol @
)
out IN + OUT + internal
Displacement Standard bodies
TYPE CODE Displacement cm3/rev| Standard threads
XV-3M/15 66 15 A-A D-D H-H
XV-3M/18 68 18 A-A D-D H-H
XV-3M/21 70 21 A-A D-D H-H
XV-3M/27 72 27 A-A E-E H-H
XV-3M/32 74 32 B-B E-E H-H
XV-3M/38 78 38 B-B E-E H-H
XV-3M/43 79 43 B-B E-E H-H
XV-3M/47 80 47 B-B E-E H-H
XV-3M/51 81 51 B-B E-E H-H
XV-3M/54 82 54 B-B E-E H-H
XV-3M/61 83 61 c-C F-F
XV-3M/64 85 64 c-C F-F
XV-3M/70 86 70 c-C F-F
XV-3M/74 87 74 c-C F-F
XV-3M/90 89 90 c-C F-F
Table showing standard flange and thread
combinations available in stock
Body (threads/flanges)
M8x1.25 10x1.5 . A_E M10x1.5 2/4BSP 1"BSP 1" 1/4 BSP g MSxW,Zi
=) I~ D (&
§ A g B B c D E F © e
P40 @51 * 262
M8x1 25 M12x1.75 J8BSP 30,18
& s *E\
9 H L AND) | L M N (0] 2
F o
b @55 262 7/16-14UNC-2B
Closed
Body Z
Vivoil Oleodinamica Vivolo s.r.l. - Sole Shareholder Company - via Leone Ginzburg 2-4 40054 Budrio (BO) Italy tel: +39 051 803689 fax: +39 051 800061
XM331 www.vivoil.com - english 02/07/2009

6



reversible motor - series XV

SAE B TYPE MOTOR
2101.6 FLANGE - SPLINED SHAFT -

|X|/3|M|78/31|1|0|O|E|
Series X series XV
Group 3  group3 )
Category M reversible motor N\ o 9
Displacement 78 38
Flange 31 | @101.6 SAE B reversible rotation
Shaft I SCF04 - Splined @21.81 z=13, H=33.55 SAE J498-13T -16/32DP (SAE B)
Body IN O  inlet- SAE 30,18 X 58,72 - 32 - 7/16-14UNC-2B
OUT| O  outlet- SAE 30,18 X 58,72 - 932 - 7/16-14UNC-2B
Cover E  with external drainage
XM332
142
Technical data table
TYPE Displacement Max. Pressure CODE e NI g
e @jé - @
cm3irev P1bar | P3bar External drainage Internal drainage _E a
XV-3M/15 14,89 250 270 [ X 3M6631 1 NN EfX 3M6631 1 NN F %’ ﬁ(‘_}] I
XV-3M/18 17,37 250 270 [ X 3M6831 1 NN EfX 3M6831 1 NN F (=P ©
XV-3M/21 21,10 250 270 [ X 3M7031 I NN EfX 3M7031 I NN F O ’
XV-3M/27 26,97 250 270 | X 3M7231 1 NN EJX 3M7231 1 NN F \&/L
XV-3M/32 32,27 250 270 |X 3M74311 OO E[X 3M7481 100 F SAE J498 TA
XV-3M/38 38,47 250 270 X 3M78311 OO0 EfX 3M78311 00 F 13T 16/32 DP T4
XV-3M/43 43,44 250 270 X 3M7931 1 OO EfJX 3M79311 00 F
XV-3M/47 47,16 230 250 [ X 3M80311 00 EfX 3M8031100 F @ 21,806 5127 9
XV-3M/51 50,88 230 250 [ X 3M81311 00 EfX 3M8131100 F L Q@
XV-3M/54 54,60 230 250 [ X 3M82311 00 EfX 3M8231100 F
XV-3M/61 60,81 230 250 |[X 3M8331 1 PP EfX 3M83311PPF |
XV-3M/64 64,53 210 230 X 3M85311 PP EJX 3M831I1 PP F r{\ N
XV-3M/70 70,74 200 | 220 X 3M8631 I PP E|X 3M8631 | PP F @ 24.98
XV-3M/74 74,46 180 200 |[X 3M87311 PP EJX 3M87311 PP F T2 @ 101,6 e
XV-3M/90 86,87 150 170 [ X 3M8931 1 PP E|JX 3M8931 | PP F
P1) Max. working pressure - P3) Max. peak pressure o2 ]M
For heavy-duty applications, it is recommended to check the admissible torque of the shaft Al =
Dimensions table e : |'~ L T o
TYPE Weight A B D E F G o s
kg mm | mm IN - OUT < o W o
XV-3M/15 7,010 124,0 61,0 225 52,37 26,19 3/8-16UNC-2B w o
XV-3M/18 7,070 126,0 62,0 225 52,37 | 26,19 | 3/8-16UNC-2B ' ~L= —T1T s
XV-3M/21 7,150 129,0 63,5 225 52,37 | 26,19 | 3/8-16UNC-2B E
XV-3M/27 7,250 133,0 | 65,5 @25 | 52,37 | 26,19 | 3/8-16UNC-2B 22
XV-3M/32 7,390 138,0 68,0 232 58,72 | 30,18 | 7/16-14UNC-2B ~
XV-3M/38 7,520 143,0 70,5 232 58,72 30,18 | 7/16-14UNC-2B E
XV-3M/43 7,630 147,0 72,5 232 58,72 30,18 | 7/16-14UNC-2B ™
XV-3M/47 7,710 150,0 74,0 232 58,72 30,18 | 7/16-14UNC-2B “_F
XV-3M/51 7,790 153,0 75,5 232 58,72 30,18 | 7/16-14UNC-2B NI S
XV-3M/54 7,870 156,0 77,0 232 58,72 30,18 | 7/16-14UNC-2B AR
XV-3M/61 8,010 161,0 79,5 238 69,85 | 35,71 | 1/2-13UNC-2B
XV-3M/64 8,090 164,0 81,0 238 69,85 | 35,71 | 1/2-13UNC-2B
XV-3M/70 8,220 169,0 83,5 238 69,85 | 35,71 | 1/2-13UNC-2B
XV-3M/74 8,300 172,0 85,0 238 69,85 35,71 1/2-13UNC-2B
XV-3M/90 8,570 182,0 90,0 238 69,85 35,71 1/2-13UNC-2B 110406 X3R7EII00EHH
T.1 = 60+65 [Nm] - screw tightening torque M10
T.2 = 264 [Nm] - admissible shaft torque (N.B. When choosing a shaft, always check the admissible torque).
T.4 = 0.3+0,5 bar - max. drainage pressure
Vivoil Oleodinamica Vivolo s.r.l. - Sole Shareholder Company - via Leone Ginzburg 2-4 40054 Budrio (BO) Italy tel: +39 051 803689 fax: +39 051 800061
XM332 www.vivoil.com - english 02/07/2009

7



Table of variations

2101.6 FLANGE ""SAE B"" -

2101.6 FLANGE "'SAE B"" Shaft Cover
COO001 - Tapered CI001 - Parallel
31 ,T2= 4@42& m] A T.2=181 [Nm] B £
2 4h8 é 5h8 o o -
‘ ! L
o 2 I
2 s el w | o drainage
SCFO03 - Splined Cl004 - Parallel ’
T.2=223[Nm] 4 Ic T.2 :%1280 [Nm] H F
ngu‘ss4a§=-1232x19 2 M; 8
© 3 ﬁ 6,35 h
q;‘::
[
Internal drainage
SCFO04 - Splined
ol 265 265 o
T.2=264 [Nm] | @ 2
412 | s385 =$ :3 K
o o
st Ho-ap U
SAE J498 ouT S llN
1311600208 D IN + OUT + external
ol 265 265 o '
1] 2]
o o L
i Ny
&t (o ol @
)
out IN + OUT + internal
Displacement Standard bodies
TYPE CODE Displacement cm3/rev| Standard threads
XV-3M/15 66 15 A-A D-D H-H
XV-3M/18 68 18 A-A D-D H-H
XV-3M/21 70 21 A-A D-D H-H
XV-3M/27 72 27 A-A E-E H-H
XV-3M/32 74 32 B-B E-E H-H
XV-3M/38 78 38 B-B E-E H-H
XV-3M/43 79 43 B-B E-E H-H
XV-3M/47 80 47 B-B E-E H-H
XV-3M/51 81 51 B-B E-E H-H
XV-3M/54 82 54 B-B E-E H-H
XV-3M/61 83 61 c-C F-F
XV-3M/64 85 64 c-C F-F
XV-3M/70 86 70 c-C F-F
XV-3M/74 87 74 c-C F-F
XV-3M/90 89 90 c-C F-F
Table showing standard flange and thread
combinations available in stock
Body (threads/flanges)
M8x1.25 10x1.5 . A_E M10x1.5 2/4BSP 1"BSP 1" 1/4 BSP g MSxW,Zi
=) I~ D (&
§ A g B B c D E F © e
P40 @51 * 262
M8x1 25 M12x1.75 J8BSP 30,18
& s *E\
9 H L AND) | L M N (0] 2
F o
b @55 262 7/16-14UNC-2B
Closed
Body Z
Vivoil Oleodinamica Vivolo s.r.l. - Sole Shareholder Company - via Leone Ginzburg 2-4 40054 Budrio (BO) Italy tel: +39 051 803689 fax: +39 051 800061
XM331 www.vivoil.com - english 02/07/2009

8





